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SECTION-A Uil.» -
Q1 Questions /.= yi» A B c P
deLois L o 4 P > A
| Sprapmadls| =S = s Gz |
1. | According to Hook's law: stress x strain = o Vg stress = stram Pl
constant constant = S | oo ST ..
strain o %
Al dr Ll L EUF
AL 5wk u:rﬂ;éu'l:q, 2x 10°K"
2. £ 2x10° K 8x 10" K" 8x10° K
What will be the value of /3 for a solid for which
a hasavalueof 2x 10° K'?
5260 - 8
3. ,4—JV~/‘/JWI/-1LJU‘/ suiociar 3 u'(,;( JE/
In gases heat is mainly transferred by: D Conduction Convection
collision 3 :
Sia b LS P8 ot S5 E 8T
4. | A body satisfies second condition for 2wW=0 2.P=0 2 F=0
equilibrium if: ’
5 ,Jé(fC)JL/JJ /:L Sk iyl
Rate of dolng work s called: Power Torque Energy -
" S/ T je '
6. 4'&”%(&' pSBerwel ol f a 8ms™ 8000ms™
The orbital speed of a low orbit satellite is: Zero
_4,4|f.fzq.¢}’;,.:;gv/‘,4u:f;«,f‘/ g , e
7. | The S! unit of pressure is Pascal, which Is equal 10" Nm INm’ 10° Nm
to:
S badWIES rs SN . . o
&bnd SrofidldLv Szr 280 s il 7]
8. | Newton's first law of motion is valid only in the Rk firees F Fricti
absence of: orce L
Um0 A a SIS E S Sk 4 LAk
9, U _
Two equal but unlike parallel forces having Atorque A couple Equillb,riurrg
different lines of action produce: g
Pred s wdiet sl Atz s » & F Ik
10. Ol \ 7
By dividing displacement of a moving body with Speed Velocity Acceleration
time we obtain:
11. -4—&”&51{&4"5’}4‘/1’”%5 1 mm. 0.1 mm. 0.001 mm.
Least count of digital vernler callipers is:
5, 12 - §Uy i1 il U0.00580 km . g q

0.00580 km has significant figures:
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Nbte:- Section B is compulsory. Attempt any two (2) questions from Section C.

SECTION-B /.~
2. Write short-answers to any five parts. (5x2=10) &f{ Gz Ldzté}g.af ¢ 12
i. Define atomic and nuclear physics. é\_ﬂ’/" Jufj)‘,;nfﬁl it
ii. How is precision related to the significant figures in a ,iru"(jlb’é,f../u(f'té::lmg! ‘:' S
measured quantity? ?adyb’a.{jr;" il ’
ili. Whatis meant by vernier constant? Sl V@Wf;"u i
iv. Differentiate between vectors and scalars. & U1 /u" ;)“c‘ 5 / v
v. Whatis meant by uniform speed? “4—:1/4»’4_ defiz) v
vi. Define retardation. édﬁ&ﬁ»b; il ‘
vii. What would happen if all friction suddenly disappears? Walrs z,bf(’»fbfujﬂgﬁffr Vil
viii. What is meant by banking of the road? Sealy L”z.,.b&.if.,ﬁr’ Vi
3. Write short answers to any Five parts. (5x2=10) aég Feliz /'; L.lf!ac;df -3
i. Differentiate between stable and neutral equilibrium, éo}d,//dfld/ 7 Ve b
ii. Differentiate between torque and couple. é(‘:bu;u" '-:; "‘ [ .'iiv
iii. Write down second condition for equilibrium. éi}d/»dfml i
iv. Why are communication satellites stationed at geostationary orbits? ; : lv
v. Whatls field force? v
vi." What are artificial satellites? Vi
vii.  Deflne wind energy. vn
viil. . What Is meant by magma? Vi
4, Write short answers to any five parts. (5x2=10) 4
i. Where Is Pascal’s Law applied? e
ii. Whatls stress? Write down its unit. NGV N
. What s elastic limit? v.;,udwég; i
iv. What is meant by internal energy of a body? Sy qugj/l(,fﬂ(fé’_@ v
v. Whatis a thermometer? e v v
vi. Howdoes heat reach us from the Sun? ?’Q—ﬁtéfa.:zdlygﬂc_fyrr it
vil.  Define rate of flow of heat. ,é..g /76(, )&}L{,Z..;A/ vut
viii.  Differentiate between conductor and insulator. _éifd?dk»/—_cf)‘juld'r .vi_ivf

SECTION - C /v.»

Note: Atfenipt’an‘y TWO questions. Each question carries nine (9) Marks.

A A@IL Iy ,-_z!f ;;Loxl_.;u:r:§¢éf:¢i

5. (a) State Newton's 2" Law of Motion. Also derive its )] m&ww}ué’m:éuyu}m/”v&rv‘u‘f (W) .5
mathematical equation. ‘_.55
(b) A car starts from rest. lts velocity becomes (5)  (“4£8. 4.8/&)/&/J/cdbdu)ub’~fl () +
20 ms™' in 8 seconds. Find its acceleration. é(}’ﬂ/)’gi b’u‘lz_(}(m 20 ms 'U'U;é’l '.
6. (a) Define kinetic energy and derive an equation forit. (1+3) ci{ xlub(/é‘ w!é..ﬂ ¥ A (56 /M;GV o ‘
(b) 'A force is acting on a body making an angle of Znd bl ¥ 30° Elxé_/tl X 4(’(I(JJL.Q )
- 30° with the horizontal. The horizontal component  (5) -aér}” Vidg 20N & e x Ui -1 14 ‘,{.‘
of the force Is 20 N. Find the force. ' 2N ’
7. (a) Define and explain latent heat of fusion. @ ‘ééuu;uléqﬁdajufdwﬁ (W) .7 g
(b) The head of a pin is a square of side 10 mm. Find (5)  _4&10 mm lf(/..gduf_q.tf'é/l/&ﬂ&mvﬁ (&) = 3

-éf(}” /‘,41!1;&,:1!4.;4(_/;}6 20 NG 41
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the prassure on it due to a force of 20 N.
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SECTION-A Uii.»
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Q1 Questions /=i A B D i
%o - s .v S Lk .
1 e b/ S 701808 0 r S L iy v nf"' “‘;’: ot 4xlig,
A body has translatory motion if it moves along a: Straight line Circle el 'ior(:b Curved pa? -
} S b/ I d P oz LT o) Y vl 8eL P Jugplid |

2. | which one of the given options, affects Temperature Surface area pf Wind Altof these .

evaporation? the liquid ' I 1
44-5'{/@6(}”6’)‘56&0’( Suit LKL Suib Lol YV EIrmdu i Jdﬂﬁé;ﬁ .

3. &yat ' & \/ &3 PR '

The density of a substance can be found with the Pascal's law Hooke's law Archimedes Pnneﬁpie of

help of; principle floataﬂm
-4-5-‘46/.(5 e dslel | eIl .c_f.:}':i_c.h LL?J@:

4. | Land breeze blows from: </ ‘j‘? =/ Jf A 16’/ ‘ =/ ‘S’”’\"‘/
Sea to land Sea to land Land to sea Land to 8 -
during night during the day during night during:the day

E bl Sl otedE L g ots 0 Ea

5. o Ot 850 km 1000 km 6400 km 42300 1§t

The altitude of geostationary orbits in which b g
communication ;atellltes are launched above the - " 4
surface of the Earth is: 4
to b/ e GAS TG AT P 3 s w2 AL Koo J’J/f"
6. | Which.one of the given devices, converts light Electric bulb Electric Photo cell Elect_ﬁc c}
energy into electrical energy? generator ;
LA g0 Lt e STl v# e v
7. | In which state of matter, molecules do not leave Solid Liquid Gas
their position? e
Vb1 Blegitit 30° LA x s Ll 2 10
8. Anesd @ aN 5N N
Aforce of 10 N is making an angle of 30° with the . |
harizontal. Its horizontal component will be: Sl
" & N - . & " w ‘, . \ »_ s '
v baduik roit &L it srr 280 o vidos . P N S
9. | Newton's first law of motion is valid only in the Force Net ferce Friction - Momemum
absence of: ’ : Oﬂ
i A PEES & S sy (/r"
Rate of doing work is called: Energy Torque Povier i Momentum
,4_&£3Lf(:“’;lwéz_,bu:&(f( ﬂf (If-yg - 74 Jr .‘
11. | The amount of a substance in terms of numbers is Gram Kilogram Newton Mo]_é L
measured in: fy
12. 14 BA e d S O S 2 G 0.01g 2mg 100 ug 5000 ng v | .
Which one of the given quantities Is the smallest? o
16-123-12-42000 %% **.
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Note: - Section B is compulsory. Attempt any two (2) questions from Section C.

vi.
vii,

vili.

vi.
vil.

viii.

Note: Attempt any TWO questions. Each question carries nine (9) Marks

5.

(2]

(a) Explain how is the temperature in a Greenhouse

SECTION-B /».»

- utliéuﬂlruc.dfc_u’.‘(r,ﬁ-q.,wIJ(»/’-"-#J

Write short answers to any five parts. (5x2=10)
Enlist any four laboratory safety equipments.
Define Ii.ght (.optics).

What is meant by physical quantities?

When is a body said to be at rest?

Define uniform acceleration.

Define vectors.

Define momentum and write its equation.

Write two differences between mass and weight.
Write short answers to any five parts. (5x2=10)
Define couple.

Differentiate between centre of' mass and centre of gravity.

Deﬁhe geostationary orbit.

“w "

Why does the value of “g” vary from place to place?

State Law of Gravitation.

Define elastic potential energy.

Write down St unit of work and define it also.
What is magma?

Write short answers to any five parts. (5x2=10)

Define density. Write down its S| unit.

State Pascal’s law. Write down applications of this faw in daily life.

Define heat. Write down its St unit.

What is meant by absolute zero of temperature?

What is the difference between melting point and freezing paint?
What is greenhouse effect?

Define the radiation mode of heat transfer.

Write down any four measures to save energy in homes.
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(a) State law of conservation of momentum. Explain it with (4)
balls’ example.

(b)  Atrain starts from rest. It moves through 1 km in 100 s 6))
with uniform acceleration. What will be its speed at the
end of 100 s?

(a) Whatis meant by Kinetic energy? Derive its equation. (1+3)

(b) A force of 100 N is applied perpendicularly on a spanner = (5)

at a distance of 10 cm from a nut. Find the torque

produced by the force.

maintained?

(b) A wooden cube of sides 10 cm each has been dipped

completely in water. Calculate the upthrust of water acting on it.

(1+3)
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